
 



AT A A is a square matrix

so a symmetric matrix must be square
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Let A be symmetric Let X Xz be

Testals of A with X X2 Let T be

eigrects corr to X Xz respectively Then

w̅ and V2 are orthogonal
A is symmetric
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A is orthognallydagnalizable if there is an

orthogonal P and diagonal
D such that
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spectrum is the set ofeigenvalues

That The spectral theorem for symmetric matrices

Let A be nxn and symmetric Then

a A has n real eiguals counting multiplicities

b For each eigual X

dim leig sparel multiplicity of X

c Eigenspaces are orthogonal

d A is orthogonally diagonalizable
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